GSE Algebra 1

Unit Review

Topic Things to Practice
% Remember
| « Joint frequencies: | a) Fillin the blanks below.
o TH (i S inside cells .
| Frequency . - High Bachelor's Master's/
= Margina School Decres Doctoral
| Tables (dayT | frequencies: Diploma €9 Degree | Total
| nofes] outside cells 2 -
| (totals) Male 16 46
| Female | |2 51 3 Ll

Total 28 qQ? 6 131

e To create relative
frequencies,
divide each
frequency by the
grand total -
round to the
nearest
hundredth

b) Create a two way relative frequency table based
on the two way frequency table apove.

-

skwp

e How many =
whole number

e Probability =
decimal rounded
to nearest
hundredth

e Percent = percent
(be sure to
include % with
answer)

Use either table above to answer the following

questions.

c) How many people
have a high school

diploma?¢ 2 8

e) What is the probability
that a person has a
Bachelor's Degree?

Mar 4

d) What percentage of
people surveyed were

female? ©D , 3¢ 90

f) What is the total
number of people
surveyed?

131

e Conditional
probability key
words: “if”, “given

that”, "what
percent of
efc.

Use either table above to answer the following

questions.

o) Loperonismale
what is the probabilit
that they have a Master's

Degree? %
S

. Oltp1  or 4lo 1%

i) What percent of
people with Bac S
Regrees are female?

“lay
52 .587%

h) What percent of

people with high school
diglomos are male?

|6,
/23
57.14%

j) Given that a person is
female, what is the
probability that they
have a high school

diploma? 1
oo
1813 origig),




><,

2) Measures of | e Measures of For the data sets below, find the mean, median,

Center and Center: mean, mode, Q1, @3, range, and IQR.
Spread (day 4 median, mode,
notes) Ql, Q3 a) 30, 27, 24, 32, 40, 26, ) 3956 L7417
o« Measures of 31.31.27 Mean = §.125
Spread: range, -
s . Mean = ;qu Median = %.5"
IQR, MAD '
¢ When finding Median = 30 Mode = |
measures of Mode = 27 B
center/spread by - 5 Ql= &K
hand, order from Ql =W Q3=¢
least to greatest | Q3= G .
first 34 Range 9
Range = Ho-24 1\ aQr= (o
GR= 345265 [B]
e The smaller the c) Data set A has a MAD of 12.5 and data set B has a

MAD, the more MAD of 8.92. Which data setis more consistente

consistent the -B
data. m %"
d) Class A's last quiz grades had a MAD of 4.25 and

Class B's last quiz grades had a MAD of 4.29. Which
class was less consistent?

clasS B
e Outliers are data

I that Determine whether the data sets below have
62 .\lUg zgrtﬁinofl]o?\r/eery outliers; if they do, identify them. Then identify and

g find the best measure of center and spread.

Wl large compared

)@)2 to all other data | €] 50, 45, 49, 53, 51, 52, 70,12 2.5.18, 3.5,
= values. 40, 46, 48, 5825 11,3637

-bS

B
@\ 4G &3 J Measure of Center: Measure of Center:

0e=7 s ML pred 1 Ak

' 38 : B S
. 16-7= [2-3=9 1213, O
4= S x?@é»é u

3) Box Plots ¢ Syr'rflme’r_ric on’r(:\ Describe the distributions below. Then identify
(day 5) L= RS find the best measure of center and spread.

mean
9) (YMM
« Skewed left/right M
Use median as :
best measure of
center

o1 @

[ ] [ ]
® o ©
! i l
T T T

9

Number of Shoes Students Have

Measure of Center:

medasn, oo~/




e Unimodal = one
mode

e Bimodal = two
modes

i) Draw a dot plot that is

j) Draw a dot plot that is

unimodal. bimodal.
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e At least = that #
or more

e At most = that #
orless

auestions.
®
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Number ot goals

Scored

m) How many people
scored less than 6 goalse

1V

Use the dot plot below to answer the following

k) How many people
scored at least 3 goals?

(4

l) How many people
scored between 2 and 5

oals?e

4) Histograms

e Symmetric
e Uniform
e Skewed left/right

a)

350

Histogram with 'auto’ bins

(e o o b

Raespic
14 vl

o 12
s Sample Value

whmedd /UV\I{:UYW\

Describe the distributions below. Then name the
best measure of center and spread.

b)

Countries represented at each festival

[ B

S

Number of festivals
%] w

(=T

0-5 6-11 12-17 18-23 24-29

Stj)m Y

.
4

35 4

= L

26

¥ 81 BH 6y 90 92 9 % U 100

e Start by sketching
a histogram

below would be.

e) A hard Biology test.

8 e P P

Describe what the distribution for each scenario

f) Outcomes of rolling a
die 1000 times

I/U“’}”””\’




e Unimodal = one
mode
Bimodal = two

modes

g) Draw a histogram that
is bimodal.

h) Draw a histogram that
is unimodal.

i

e At least = that #
or more

At most = that # or

less

questions.
gl -2
]
Y
c
% 3.0
(1]
w207 2
107 |—L‘

0
20 30 40 50 60 70 80 90 100
Age

m) What age group is the
most common?

50~ (20

Use the histogram below to answer the following

i) How many people
were surveyed?

Raje.

j) How many people are
over the age of 602

k) How many people are
at most 50¢ 'O

n) How many people are
between 20 and 40¢

B L

4 BOX ARl
il

Five Number

a) Identify the five number summary of the box plot

SU”?”.‘OW below. Be sure to include units.
e Minimum ) i o
o Q.I Number of eges laid
e Median
e Q3 — o
e Maximum
0 2 4 6 8 0 12
M LA
a =3 Q=6

Q, - (o max = 1O

e Range = b) Find the range of the c) Find the IQR of the
max — min box plot above. range above.

¢ IQR=Q3-QI 10 -2 %’3

3




Symmetric and
Uniform= mean
and range

e Skewed left/right

d) W@b@”’”"

Describe the distributions below. Then identify the
best measure of center and spread.

Each “section” of
the box plot
represents 25% of
the data.

= median and e) g.jmm
IQR o
X X
f) e)
L po
L | s
in = Oth
S il . 60 people were surveyed on how many Harrison t-
percentile .
¢ Q1 = 25 shirts they have. The results can be seen below. Use
percentile the box plo’r"rg onswerl’rge fol'locwing questions.
o Med = 50 . -
percentile @ L
e Q3=75h
percentile
e Max = 100" -ttt
percentile 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

h) What percent of
people have at least 5.5

shirts? 7‘;?0

j) How many people
have more than 9.5

shirts?
IS

i) What percent of
people have less than 7.5

shirtse BU 70

k) How many people
have between 5.5 and

9.5 shirts?
A0

Mixed Review

6) Coach Webb i

play-offs. The data below shows the numbers of poinfs sc

games.

s trying to decide which two of his point guards he wants to start for the first round of
ored by Jace and Tyler from the past SiX

Jaee* 11,11, 8:28. & 12
Who do you think Coach Webb should select as a starting player and why?

THWW yore  (nsISTA

Tyler:

15,12, 13,10, %, 13




7) Which data set will have the greater mean absolute deviation2 Why?

Set 1: 50, 50, 55, 60, 60 Set 2: 25, 50, 55, 60, 60
X X X
XXX X XXX
B e R s B B e
20 20 40 S50 €0 20 30 40 BD &0
Maan = 55 Mean =50

Set 2 -more datd favtney fom oo

8) Determine whether the statements below are true or false based on the box plots below.

boys | sy

| - 1 | 1

I I 1 | 1 1 1 |

]
130 140 150 160 170 180 c¢cm 190

- — girls

a) The girls are taller on average. Fa [S«Q/
b) The shortest person is a boy. FCHS'?—

c) The tallest person is a boy. TYLLQ/

d) Both data sets are skewed to the left. TY Ue

e) Girls have a smaller IQR. W T”%




Practice MC/Review

1. Which of the following graphs has a weak negative correlation?

2. Which is the best-fitting line for the set of ordered pairs2
(1,4.2) (2, 3.8) [8RSS) (4257 (5.2.2)

A. y=481x-0.51
B. y=-0.99x+4.81
C. y=-0.51x+4.381
D. y=0.51x-0.99

3. The events x and y have a correlation coefficient of r = -0.08. What is the relationship

between x and y?

A. The events have a strong negative linear relationship.
B. The events have a strong positive linear relationship.
C. The events have a weak positive linear relationship.
D. There is very little or no correlation.

4. Given the scatter plot, describe the correlation.
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Practice MC/Review

6. Between which of the following variables would you expect there to be a negative
correlation?
A. The outside temperature and the number of layers of clothing a person wears

B. A person's height and weight
C. The amount of time spent studying and a test grade

7. Which of the following is one of the 5 values needed to make a box-and-whisker plot?
A. Mean B. Median C. Mode D. Mean Absolute Deviation

8. Sarah's younger siblings are always bothering her when she does her homework, and she
begins to wonder whether other students have the same trouble. She surveys 25 of her fellow
juniors and records the number of siblings and the homework grades for each of them. She
wants to see if there is a trend in the data she collected.

Which display should she use if she wants to evaluate if there is a correlation?

A. Box Plot B. Histogram @wscarter D. Dot Plot
Plot

9. The table shows the sizes, in square feet, of a sample of eight houses from a neighborhood.
House 5 is a renovated warehouse. What is the range of the sizes of the house?

o s LA o5 | 6| 7|8
ze 1025 1288|2344/ 988 (12,985|1500 1077 2455,

A. 2957.75 B. 1394 C. 1348.5 11,997

10. George asked five of his friends how long they studied for the last math test and what grade
they received. He found a linear regression equation for the data to be y = 9.6x + 65.8. What
does the 9.6 mean in the context of this equation?

A. That his fiends on average studied 9.6 hours. |
B. That if they studied 9.6 hours they would get a 0 on the test. ;
C. That they should study 9.6 hours in order to get an A on the test.
D.YThat for every hour they studied their grade would go up 9.6 points. |

Mr. Murray recorded the pulse rates for each of the students in his classes after the students had
climbed a set of s’fclrs He dlsployed the results, by class, using the box plots shown.

Pulse Rates
11. Which closs had 1he highest upper quartile? Class 1 ][+ 1
s1 C. Class 2 xo. | g e ‘
m QJ ;Q‘L"D‘ CIGSS 4 Class 3 0—'| I I—‘
ct Class 4 0—‘ "'——0

60 65 70 75 B0 85 90 95100



Practice MC/Review

13. For which pair of variables would you most likely expect a positive correlation?
A. Driving speed and time it takes to reach a destination
B. Yearsin school and annual salary
C. Distance from school and how long it takes to get ready in the morning
D. Daily hours of electronic usage and test scores

14. What type of correlation does the following have? The age of a person vs. The last four digits
of their phone number.
A. Positive Correlation
B. Negative Correlation
C. No Correlation

15. Which is the best description of the distribution?
A. Bimodal
B. Symmetric

C. Skewed Left rﬂ_ﬂm—H—l—l

D. Skewed Right T b

§58388

16. An office manager is assigned the task of distributing new parking spaces to the employees in
his building. In order to do so, he first takes data on the distance from parking space to office
for five of the employees and the number of minutes it takes each to walk to their office. The
datais recorded below:

18 14 8 30 20

15 20 5 50 45
According to this datq, if it takes a person 40 minutes to get to his/her desk, then how far do
they park from their place of employment?

A. 87 feet B. 48 feet C. 29 feet | D. 74feet

il

Open-Ended Response

Fi e mean the mean absolute deviation of the following data set.
k.. .© 25 9




Practice MC/Review

Several taste tests were conducted across the country to determine the consumer ratings of a new
sugar-free ice cream. Consumers were asked to rate the level of sweetness on a scale of 1 to 20,
with 20 being extremely sweet. The mean ratings of these samples were:

N 7 B2 N0 s s a5l iz ok

19. Identify the elements of the Five Number Summary for this dafa.
min L C(l: DS LCE = Q)= IS e aia b SR

20. Create a Box-and-Whisker Plot to represent this data
o— | L —e

N b b e e e B 2 e
TR AT T A T R AT A

1 = U BT T ;
1 owlag Ve Il
T34SL-TYA10 0 LDIkun B 20
21. What is the Interquartile Range (IQR) of this data?

fSe ZS sy

B

22. Are there any outliers for this data2 Show your calculations.
If so, identify them. If not, justify your conclusion.

£ S - S
- 235

A group of students were polled to find out how many were planning to major in a scientific field of
study in college. The results of the poll are shown in the frequency table below.

23. Find the marginal frequencies (Fill in the chart)

210 30
112 200 | 312

| 30A | 410 | GE2

what percent are not planning to study a scientific field¢ (round to

e st G
at percent are pursuing a scientific field¢ {round to nearest




Practice MC/Review

The data below represents the home values of a certain country from 1900 to 2000, based years Lef
the year 1900 be x = 0, and let x represent the number of years since 1900. The values are in

thousands

1910

1920

1930

1940

1950

1960

1970

1980

1990

2000

19200
30

35

37

30

35

38

47

o8

58

65

70

26. What is the best fitting linear regression for the data? (round to the hundredths

place)

27. Based on the dctd, what will the home value be in 2020¢

= ’L{-)( +AS

5e, dOC




